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Fact: the square root is an increasing function. That means

to maximize sqrt(''something'), just maximize "something."
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They're both maximized at
the same input value.
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#8 on Week 9 Assignment is Newton's method

For= -x-1
==L = 3x= !

A piece of wire 20 m ong is cut into 2 pieces. One piece is bent into a square and the other is bent
into an equilateral triangle.

a. How much wire should be used for the square in order to maximize the total area?

b. How much wire for the square if you want to minimize the area?

Let x= ,a..fl’b- ,ﬂ wire \«.Qc! -paf —+e 97\4.0-\( A Mmoo,

A \1?_ vy e ot ¢, . o .. .b"\‘,_)_@ .- e
@ Wir WW\-J' J"p G x/mm i< *-I'l-v e 9

—— (— = weer=
B Loy
Arsd of f\n-‘my@ A—gd‘ Cﬂ; ’ 20-¥ 2

>
20X\ /20~ o 3 %}"2‘
A,mt 'l,;.bc g;\é,d = 15('____—5")(____7.)‘) s,\,.(lp())

" —ox
¢ = (j- (‘LO"’A /-3’
a Y

poAE—e A%




250402-notes.notebook April 02, 2025

Page of Bad Stuff (Mistakes)
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A piece of wire 20 m ong is cut into 2 pieces. One piece is bent into a square and the other is bent
into an equilateral triangle.

a. How much wire should be used for the square in order to maximize the total area?

b. How much wire for the square if you want to minimize the area?
This work spirals towards a solution, but it's not that well-written. If I were a student who
took 3 pages to finally work it out, I would re-write the thing to be turned in if it were a

written assignment. People tend to try to make their first draft "perfect" and it's better to
just be messy and fast, and then put it all together in a nice little report.
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I wasn't paying that close attention to the FACT that the Area was a quadratic function with a
POSITIVE leading coefficient.

Of course the derivative gave us a local MINIMUM.

Then it was just a matter of checking the endpoints for which was bigger.
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